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Q.1 Select the most appropriate option to fill in the blank.

My brother took us aride in the nature reserve.
Ans X 1.to

< 2.in
X 3.at
o 4. for

Question ID : 65497817221
Chosen Option : 4

Q.2 Identify the segment that contains a grammatical error. If there is no error, select ‘No
error'.

It is one of the best books whom | have ever read.
Ans X 1.ltis one of the
5 2.1 have ever read
«” 3. best books whom
2 4. No error

Question ID : 65497817220
Chosen Option : 3

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

We had not explored even a tiny fraction of space even after years of space research.
Ans " 1. have not

< 2. are not
25 3. No substitution required
25 4. could not

Question ID : 65497815715
Chosen Option : 1
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Q.4 Select the most appropriate meaning of the given idiom.

At beck and call
Ans X 1. Try to convince others about something

< 2. Signal someone to approach
#5 3. Gain an advantage over someone

" 4. Ready to do everything for someone

Question ID : 65497817237
Chosen Option : 4

Q.5 Select the most appropriate word for the given group of words.
Make better
Ans # 1. Improve
/< 2. Change
< 3. Delete
< 4. Increase

Question ID : 65497817238
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.
| wonder if the postman ____ today.
Ans X 1.come
& 2. will come
< 3. was coming

Z5 4. will have come

Question ID : 65497817222
Chosen Option : 2

Q.7 Select the most appropriate synonym of the given word.
AMPLE
Ans 1. Sufficient
25 2. Narrow
X 3. Meager
5 4. Short

Question ID : 65497817234
Chosen Option : 1
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Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Cubicle

< 2. Cube

" 3. Crystle
X 4. Crust

Question ID : 65497817240
Chosen Option : 1

Q.9 Select the most appropriate ANTONYM of the given word.

EXCITED
Ans X 1. Thrilled

/5 2. Busy
75 3. Active
o’ 4. Bored

Question ID : 65497817232
Chosen Option : 4

Q.10 Select the most appropriate meaning of the given idiom.

Bear fruit
Ans X 1.Be creative

< 2. Putin hard work
25 3. Accept the truth

«” 4. Produce positive results

Question ID : 65497817236
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.

The weather report the fishermen not to go fishing the next day.
Ans X 1.requested

«” 2. advised
< 3. insisted
#5 4. announced

Question ID : 65497817242
Chosen Option : 2
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Q.12 Select the most appropriate synonym of the given word.
CONCISE

Ans X 1.Edited

X 2. Lengthy

< 3. Modified

«” 4. Brief

Question ID : 65497817235
Chosen Option : 4

Q.13 Identify the segment that contains a grammatical error. If there is no error, select 'No
error'.

Each team were wearing a different coloured dress.
Ans X 1.No error

/5 2. wearing a
25 3. different coloured dress

o 4. Each team were

Question ID : 65497817219
Chosen Option : 4

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

The tournament have been cancel.
Ans & 1. has been cancelled
#5 2. have been cancelled
< 3. No substitution required

< 4. has been cancel

Question ID : 65497817229
Chosen Option : 1

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Her later short stories are vastly superior than her earlier ones.

Ans 1. superior to
5 2. superior against
< 3. superior over

25 4. superior from

Question ID : 65497817837
Chosen Option : 1
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Q.16 Select the most appropriate word for the given group of words.
The cry of an owl

Ans " 1. Hoot

X 2. Coo

25 3. Squawk

X< 4. Moo

Question ID : 65497817239
Chosen Option : 1

Q.17 Select the most appropriate option to fill in the blank.
Twenty people were buried alive when the building
Ans & 1. collapsed

< 2. damaged

< 3. subsided

< 4. shook

Question ID : 65497817243
Chosen Option : 3

Q.18 Select the INCORRECTLY spelt word.
Ans X 1.Possess

X 2. Persuade
o 3. Persuit
X 4. Precede

Question ID : 65497817241
Chosen Option : 1

Q.19 Identify the segment that contains a grammatical error. If there is no error, select 'No
error'.

Every morning a shrill noise wake me up.
Ans o 1. wake me up
25 2. Every morning
Z5 3. a shrill noise
25 4. No error

Question ID : 65497817218
Chosen Option : 1
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Q.20 Select the most appropriate ANTONYM of the given word.
ACQUIRE
Ans X 1.Gain
o 2. Disperse
25 3. Collect
X 4.Eamn
Question ID : 65497817233
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.
The train came out of the jungle and passed fields of sugarcane and villages of mud huts.
Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.shouts
X 2. shout
«” 3. shouted
< 4. shouting
Question ID : 65497817224
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.
The train came out of the jungle and passed fields of sugarcane and villages of mud huts.
Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 1. there
< 2. here
< 3. this
X 4. that
Question ID : 65497817225
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.pump
75 2. car
” 3. engine
75 4. motor
Question ID : 65497817226
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.
The train came out of the jungle and passed fields of sugarcane and villages of mud huts.
Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans o 1.was
5 2. are
< 3. were
X 4. is
Question ID : 65497817227
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.
The train came out of the jungle and passed fields of sugarcane and villages of mud huts.
Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1. frequently
25 2. absolutely
< 3. definitely
o 4. actually
Question ID : 65497817228
Chosen Option : 1

Section : General Intelligence and Reasoning
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Y o gl ¥ gdur # e At & Tmw w1

RN NNK

Ans

Y A

Question ID : 65497816458
Chosen Option : 3
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Q2 I AeR-TYE BT T $¥, 5l &t 75 Joit & weraras g (2) F R W T2
bisq, dguo, ?, hcyk

Ans o 1. fewm

& 2. ffwn

X 3.eevm

X 4. efvn

Question ID : 65497816449
Chosen Option : 1

A Fmar §oar 3w = e

Ans
x 1
—
o'o
w2 =
% g =

Q.3 zu Ry 71 9U9 w1, OEs o8 oo § F ww B aw #ee f 9nee ofe # e W

Question ID : 65497816459
Chosen Option : 4

| "efta 31
Kabaddi : 7 : : Football : ?
Ans X 1.6
2.8
< 3.10
S 41

Q.4 I fabeq &1 a9+ B, Wil W Ug A Sio It ybR Teiftra § R 7oR gaR1 ug vgd v

Question ID : 65497816444
Chosen Option : 2
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Q.5

et ff¥a e wror 3, afe 4 o 6 #) Ta-gwr A ufawutfua fasar wimer 2 aur 5 3k 9 &t
TH-gaR A wfaatia foran ran 2, & A & @ o W e aed 93t ghft?

Ans

Ans o 1.7458
X 2.4555
X 3.9383
X 4.7486
Question ID : 65497816437
Chosen Option : 1
Q.6 Tg ara 3w, srgal, urd, fwor, siieR Sk fave Frveys F Af w3 & i

YEYS P b5 I SR AREE T

1. 3qaf 3% PR IR T F Fa A & 21
2. 3w, PR & s A JoT 71

3. f_ur, erqaf & S arA A8t 21

S & S T DI 57182

o 1.0
X 2. faRur

X 3. 3
F RN

Question ID : 65497816452
Chosen Option : 1

Q.7

Ans

B8 aRa 3w, argal, urd, fpur, PR Sk favTe Trveys F Af w3 & v
YU & Hg BT SR g B

1. 3rqaf St iR o uid & Fa 7 48t 31

2. A, PR F TS A FoT 2

3. fozur, 3rgat & e arE T B

SWIad gy #, i favrer ok SRR, S/ W T -gay A 9¢d A4 §, @t favur & s &
P9 IoT M2

X 1. ergat
o 2. 3HR
X 3. foRs
X 4. ffiNE

Question ID : 65497816453
Chosen Option : 2
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Q8 famwed & ¥ 3@ wpfa # Twa &Y, % & 7 WPy F Nod v F e ¥ Yo @ @ s

Ans

R

Question ID : 65497816456
Chosen Option : 1

Q.9 f3T T FY= F AMUR W A7 & A 17 1 e Frewrar o wwar 872
BYF 1 : ot ey, Auera gl
HYF 2 : PO AULIY, FGEATR &
Ans 1. TS FHR, IR Bl
X 2.9t duey, TR B
X 3. 3% 1 IR, AUl TET 71
X 4. T IR, IR B

Question ID : 65497816450
Chosen Option : 1
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Q.10 I FAPHey BT T B, S ) TEn A S 34l R Teafia § SR toR gast aen
gl I= | Hefid 2l

31:8::92:7
Ans X 1.721

& 2.77

< 3.49

< 4.61

Question ID : 65497816438
Chosen Option : 2

Q1 37 ReeT & 997 F%, S & 75 FHA Auhr F T T 9 HTOET

AR

XZ.”H
gin

Question ID : 65497816455
Chosen Option : 3

Q.12 et fAfda oo utar A, af '+ 371 eref umT, x F7 3 HerEr, - B 3 e R - BT
3 oI B, At e ST BT A 91 HY | (BODMAS HT SUGRT H¥)

24+6-2+4x2
Ans X 1.13

X 2.12
& 3.25
X 4.10

Question ID : 65497816436
Chosen Option : 3
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Q13 ?.ﬁﬁmmﬁ,ﬁmmﬁma@ﬁwmﬁmmmmmw
wefta B

&ﬁrﬁﬁq:aﬁaﬁﬁuﬁfﬁﬂ::wm:?
Ans g 1 FETer o

X 2. Uiy ufewH

X 3. 3MEo® JeA

X 4. SonfeE Shafem

Question ID : 65497816447
Chosen Option : 1

Q.14 I HE3f T 999 ¥, 5 &t 75 wE Joft F yyaras fagt (2) F R w mwfte
23, 25, 29, 35, 47, 50, 2, ?
Ans X 1.54,68
X 2.62,70
< 3.56,70
o 4.75,50

Question ID : 65497816441
Chosen Option : --

Q.15 %qﬁwq%mmﬁ,aﬁ?ﬂﬂhaﬁaﬁwwﬁwﬁm%ﬁmwwﬁmm
Fefta g1

m:gﬂ'@i’g::ﬁﬂﬁ:?
Ans g 1.7l

X 2. Pl

X 3. FAleD

X 4. HERIY

Question ID : 65497816448
Chosen Option : 3

Q.16 Gt Iy &, Pger ‘Teata R =1 frefa S0 ¥, 37 W07 Rear @ freR S &
3 s FEsd et # Gefe wr ¢ e el susd 3t gearw ae ge 2

Ans x4 13
<219
X3 26
v4 9

Question ID : 65497816460
Chosen Option : 2
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Q.17 IR FEr-He 2y e g, ord & i 5 uoR g9 € 3R Ue SRiTd g1 39 SrTd
T@I-5% &1 I9q B

Ans X 1.38 924,33

X 2.23,426, 67

X 3.55, 5425, 96

o 4.43,126, 32

Question ID : 65497816439
Chosen Option : --

Q.18 I TTAT FT TG F¥, WY Y TS T Joft F yyaras fF (2) F - W angit?
2,5,13,29,?

Ans o 1.47

X 2. 41

% 3.39

X 4.43

Question ID : 65497816440
Chosen Option : --

Q.19 3T T FY F MUR W e & | B 1 fread freren o wwar §2

HYT 1 : 3N, TS T @1 2l
FUT 2 : YFT, ST A G T2
FYF 3 : ThedT, 45T A SISt B

Ans X 1. 3T, Ufter § wa 5
X 2. g, 3BT A B B
X 3. 3BT Fad BT B
o 4. Ui, ST A BRI

Question ID : 65497816451
Chosen Option : 4

Q.20 I &R BT 99 B¥, oY &t 75 1R Joft & wyaras g (7) & M W e
E, G LV,?
Ans X 1.G
o 2. M
X 3s
X 4P

Question ID : 65497816443
Chosen Option : 2
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Q.21 <t fAfYya e urwT A, af 375 @Y 422, 3R 784’ B 14’ foraT ST @, <t I Fe W
T 317 ‘465 Hi fHd UHR ford?
Ans 7 1.21
X 2.34
X 3.12

X 4.43

Question ID : 65497816445
Chosen Option : 3

Q.22 gfg g+t TR quiame ¥ geT f3u S, @t 9 AT 31&R 159 T TR TE?
Ans X 1.R

X2T
X 3.Q
& 4.5

Question ID : 65497816442
Chosen Option : 4

Q.23 Select the figure from the options which is embedded in the given question figure.

x x
Ans
x 2.
L]
-“-\"‘N‘_t
o 3.
& 4.

Question ID : 65497816457
Chosen Option : 2
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Q.24 IY 3R JUISH BT 999 B, 7 & 7 Joft F fraa Wl # wive w0 F @ w Joft
T g e

B_DC__ADD_BA
Ans X 1.ABCB

« 2. ACBC
X 3.DACB
X 4.DABC

Question ID : 65497816446
Chosen Option : 2

Q.25 g f@arE! @, b, ‘', ‘d’ 3R ‘e’ Tt Fg & R po W a7
1. 'b' TP T ®, AP T S 91T 2
2.'d"' ¢’ T 3P T I, AfFT TR b AFA T IATC |
3.'a' 94 37 T, &l 'c' A PA LI
4. ‘e’ A 'd' ¥ 29 ¥ 3w T
5.’ 'b' ¥ 21 T HH AT
‘e’ Y THI fohaa I Q&2
Ans X 1.58

X 2.134
X 3.62
& 4.70

Question ID : 65497816454
Chosen Option : 4

Section : Numerical Aptitude

Q1 e wanst & shwe 30 & e we gwd www & 2 o ¥ st g e, Al w2 d
TR EET A H

Ans  x 1 3(Q
X2 25
X3 28
v 4 20

Question ID : 65497815658
Chosen Option : 4

Q2 g dwmst & yad 13 © 8 ¥y yedw wew # 25 A gf¥ O & & e 44 ¢ 29 & S
g FEmat % # AT 7| w6

Ans X170
<2 85
v 75
X< 4. 80

Question ID : 65497815664
Chosen Option : 3
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Q.3 24 spheres of the same size are made by melting a solid cylinder. whose diameter is 28 cm and height is 7 cm. The
surface area of each sphere is:

(Take m = 2)

Ans @1 154 cm?
X2 144 cm?
X3 156 cm?
X4 164 cm?

Question ID : 65497815671
Chosen Option : 1

Q.4 forelr wEe FEEET FEY F HEAE AT AT @w FAr 18 om AR 22 om E| FET w1 F9 O
IS (cm® A) FT FLI

Ans X 1. 4147
X2 404n
X3 4247
4 444 T

Question ID : 65497814966
Chosen Option : 1

QS5 v fea, 8 km/h = & BREr g @ 12 fAwe # 99w €1 IR 9% 12 kmh B T ®
T &, O TEE g # es mEw # a9 wem

Ans K112 e
X2 10 fBee
X314 e
v 4 8 fae

Question ID : 65497815655
Chosen Option : 4

Q6 ApsdRciRismsFr iR sk R wsR i MMIwarsT s §
T 37 w1 F BT 29,800 BT ¥, O A Fr 9reg T 7 w1

Ans  x1. 24,600
v 2 34,800
x 3. 25,800
x 434,200

Question ID : 65497815653
Chosen Option : 2
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Q7 1.1 St
g =\s @

. T AT AT HiST|

ofi—5of;
Ans

xi X
65
7
- A
65
3 "
65
x4 B
65

Question ID : 65497817088
Chosen Option : 3

Q.8 315,400 ®r i 2r sl &, ggeT 9% 3T AW 12% WUROT ST FT & IT IUN & AT 1 A aw
e G F = 4,914 §) 9% AR 12% Fr W W 3uR & 7 v 7 a7 F

Ans X186 :7
v25:6
X34 :5
X45:7

Question ID : 65497815667
Chosen Option : 2

Q9 el et &, 75% 4T Fuw € A 9w wguw E 84% Fuw sfAE R 28% puwr sfHE o
&1 o sreumdy sffet v FEar 180 &, & v J sfEal & o g 7" w1

Ans 1. 800
~< 2. 800
x 3. 650
<4700

Question ID : 65497815660
Chosen Option : 1

Q10 51 km # gfr 77 = T, B 2T ¥ i@ B UF O 40 e SO § O, 3WS @ 9w A
TE g 99 gT & = o T T A F
Ans X1. 8 km/h
X 2.7 km/h
#<3.10 km/h
v 4 9 km/h

Question ID : 65497815656
Chosen Option : 4
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Q1 fy i =t e 9w =¥ & chow e & garo Rfies ot wT T oo oo w o R o
TqME F NTIF F1 3R AR T T 997 = 3T

o 9 & Aw | T H 7F 5 7R 4.2 F03 o, & geata A#R 7R W ww Ty 5 fH 9 7w
TR =17 F

At X1 31.35 FUE
v2 3147 &S
X3 3247 FT
X4 3145 F5

Question ID : 65497815675
Chosen Option : 2

Q12 A BIRCTNH2:3 4 FIE A FT W T¢I o0 F &l B Fo T 360 71 m A A
o T 39 AT N 3:8:7 F He9E # FG0T S FedT 87
(i) AT B #F 20 & #T C U B H 20 F= TUEART FF1
(iy AT B H 20 & 3k C B F 10 &9 ruAANT FF|
(i) A T B H 40 %= 3T C ¥ B # 20 F ©UHGES I
(iv) A& B # 30 &9 it C & B & 30 &3 TS HI1

Ans 1. (i)
x 2. (iii)
x 3. (iv)
o 4. (i)

Question ID : 65497815665
Chosen Option : 4
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Q.13 fzw s oF = G B 99 F dhow e 2ur ga R @9 w BT av w5 guEr B oo
TqME T ATIF F1 AR I Be v 907 F 57w &

wﬁéﬁwm&ﬁﬁﬁﬁza.ﬁmﬁ.ﬁﬁﬁ,%ﬁasﬁmﬁrwa&ﬂﬁaﬂwrﬁr
AT HL

Ans X 1. 365 W@
X2 360 oMW
X3 356 oM@
v 4 362 oE

Question ID : 65497815677
Chosen Option : 4

Q.14 2y Foat & AHe 50 ¥ 3R e TS 525 ¥ A FEHt # AF. (LCM) AT HE

Ans X 1. 85
X2 115
3105
x4 125

Question ID : 65497815672
Chosen Option : 3

Q15 = Fr o I3 A THEIE HUR T A g, 112,500 F T |, 12% TF H R F vF A
N TFgE TS AT FL

Ans  X1.%1,500
x 231,455
v 3 31,545
x 421,540

Question ID : 65497815666
Chosen Option : 3
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Q.16 =7 3w #r sfoEas =@ 79 FI, 5F 13 cm x 8 cm x 3 cm ST T FEAFER TEH F T
ST TR E

Ans X1 ﬂwfim
X2 1242 em
¢ 3 1142 em
X4 113 em

Question ID : 65497815669
Chosen Option : 3

" g 4A=5B=8C % S A:B:C¥T I
Ans X192 87

X242 FioB

v310: 8 :5

X410 : 8 : 7

Question ID : 65497815663
Chosen Option : 3

Q.18 If the difference of the mode and median of a data is 38, then the difference of the median and mean is:
Ans X 1. 24

<2 18

3. 19

X4 22

Question ID : 65497815668
Chosen Option : 3

Q.19 30 w==t =7 Hwa HR, 20 T F AT AR F 5 kg 3UF &1 TR 30 FEH F T AT 1050 kg
% o 20 wsft @ B SR A

Ans X 1. 400 kg
v 2. 600 kg
x 3 650 kg
x4 550 kg

Question ID : 65497815657
Chosen Option : 2
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Q.20 fezw =am o = B fOw o€ F S S gy caw e oe W T T e w o E e
IqTE H FTIS F1 3T FArer o v 9o #3547 &

e o & Wt W wT & 75 g oW 224 Fz f, & vw T 20w AR aeeEE W oy & o
TR, & W Aew AR geAre W owd # o$ o & free wionm wA 82

Ans X 1. 12%
X2 15%
< 3. 89%
v 10%

Question ID : 65497815676
Chosen Option : 4

Q.21 foelr wamst it Fars, s T IR F AES 28 om §) IR TA T FF TET HIFA 5880m” §,
& gww fawut A #Y)

Ans X112 em
<216 cm
¥ 3 14 cm
<415 cm

Question ID : 65497815670
Chosen Option : 3

Q22 7119.60 # 52 Y @Y 7 ¥ 3R 41.40 9 o7 & W F 3 72§ o I w= =
Ans X 1. 40%

2. B0%

X 3. 45%

X 4 60%

Question ID : 65497815661
Chosen Option : 2
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Q.23 o 3wg @7 3T AEw 25,800 #1 afy 20% T &R F 9@ W A 25% AW T A &, A I+
FU qFT G F

Ans x1.33,720
X2 %3,625
v 3 33,712
X 4. 23,724

Question ID : 65497815659
Chosen Option : 3

Q.24 A B 3T C Bl o8 # Faa 16, 24 v 32 RF F 9@ FT ¥ §1 ¥ 0F WY FH YF F@ §,
AfFer C, 4 Rt @ w8 o 4 § 3 A FF g @A ¥ 6 R wge @ o T ¥ Bow Ra A
FE G EET?

Ans X1 15 a?r
X2 14 f&m
X3 9 fea
v412 =

Question ID : 65497815654
Chosen Option : 4

Q25 FrafE ATV TEF 720 Fma g, amasamreatdhadaad i sk =
wT\M‘{zu%% & Fma 9T A9AT E, A gEY TV Fe F a9 W gE @ g F)

Ans X 1. 2 5oy
X2 8%
3 10%
X 4. 9%

Question ID : 65497815662
Chosen Option : 3

Section : General Awareness
Q1 FafifEd & @ 19 a1 qerErR giar § iR T9@ 931 1ENER 82
Ans X 1. 3fCdif¢h HEITR

o 2. BT He™mTR

X 3. 3THeH HEMFR

7< 4. U=Id AGIR

Question ID : 65497818323
Chosen Option : 1
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Q2 Pofifad d A o a1 te dfed ugrd § & fidl @) SRaaTEe e UgH Sar 82
Ans X' 1 SIgcH

2. qga

X 3. 7AuH

X 4. PIRHEH

Question ID : 65497818321
Chosen Option : 2

Q.3 FPafifEd § @ 919 91 Ted 1 SAg § i g 82
Ans o 1. SifcH agef B fose!

X 2. SEdl-age b T W ofR FaTy

X 3. TN fobT Y WHM! 1 farsht

X 4. 3fAROT YT

Question ID : 65497818314
Chosen Option : 1

Q.4 @I IUTEA S & T 7a1 §9d ae-1o! & fdera $1 fazn & ahree & g o7 2020 #
fay @re WER fraa shar?

Ans X1.3ﬂ'§.@$€
X 2. T HUIE!
X 3. T MU oH

o 4.3 a1

Question ID : 65497818310
Chosen Option : --

Q.5 UG YIS STGITE B UT?
Ans X 1. gAY

o 2.9 R

X 3.9

X 4. 2R

Question ID : 65497818327
Chosen Option : 2

Q.6 Ethanoic acid is also known as glacial acetic acid as it:
Ans X 1.crystallizes easily

& 2. freezes in cold climate
< 3. is volatile during winter

X 4.is aliquid during winter

Question ID : 65497818322
Chosen Option : 1
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Q7 YRd & I Aeq Gt ave A fra it & fAffa €2
Ans X 1. ol g

2. 91 frgh

X 3. diett gt

X 4. fogh

Question ID

Chosen Option :

: 65497818325
2

Q.8 frufafad & A 1 It Tou ekt am=fa o gursi F ot 75 82
Ans K 1R

X 2. WRaTed

& 3.8%

X 4.9

Question ID

: 65497818305

Chosen Option : --

Q.9 =fey ¥ w@rea & fRre FrafifEd § & w1 geayef 78 22
Ans X' 1. |THIIG JHTT

X 2. ey
X 3. graSH® qBTs
o 4. TS aRas

Question ID

1 65497818320

Chosen Option : --

Q.10 AqaH # AT goy Twa Wt § 2020 &1 s sty f&are fa= sfar?
Ans X' 1. 3ol XM

o 2. 71a® Sl

X 3. Siftfe g

X 4. S Sfergedt

Question ID

: 65497818308

Chosen Option : --

Q.1 PfafEd & § $19 91 3¢ Te8 RET 82
Ans X 1.7T9de

X 2. 9mAg

3. 574G

X 4. 3udde

Question ID

Chosen Option :

: 65497818326
3
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Q.12 gyfraw WieR e 3w & A= omar 82
Ans X' 1 3H

o 2. iR

X 3. S

X 4. AR

Question ID : 65497818304
Chosen Option : --

Q.13 frgfefea # 9 foa faarst @1 2020 A garsh & wwnfaa foear mare
Ans X 1. ity omi

X 2. T Uea

X 3. AfF®T &=

o 4. T U

Question ID : 65497818307
Chosen Option : --

Q.14 HRAYTT FHT B Ugeht 6P Ha §3?
Ans X 1.TaTS 1948

X 2. SRl 1950

X 3. 3R 1945

o 4. faTsR 1946

Question ID : 65497818316
Chosen Option : 4

Q.15 fpvor 3urs A Fafefea & @ #9 W@ goe fadh 32
Ans X 1. 3R 3HTth AarE

o 2. T SRS 3 &g

X 3.5 7iis 3 wid v

X 4.2 TN Uo

Question ID : 65497818309
Chosen Option : ==

Q.16 YRd WeR gR1 faeaimar siiferay g af uika fasar w2
Ans o 1.1995

X 2.1997
X 3.1993
X 4.1992

Question ID : 65497818317
Chosen Option : --
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Q17 1917 B "t Mith A ORI & WeT R F fpari & g Temeg 3t e o fh ag
TR 3t AT F g
Ans o 1.5 YA H B
X 2. §gAR UG aTel s
X 3. Riars gfaensii & gur
X 4. WO PG

Question ID : 65497818328
Chosen Option : --

Q.18 The colour of the clear sky is blue due to the phenomenon of:
Ans X 1. refraction of light

5 2. reflection of light
/< 3. dispersion of light
& 4. scattering of light

Question ID : 65497818318
Chosen Option : 4

Q.19 frafafea & @ o9 @ verfeat farag & R a8 §2
Ans X' 1. wEfaar

X 2. ardt

o 3. Sast

X 4RI

Question ID : 65497818324
Chosen Option : 3

Q.20 1978 ¥ YR & yurE Fafaf@a d ¥ H 32
Ans X' 1. TWIRI o1 Hal

o 2. TRRSN 3978

X 3. R

X 4. 91 d8TgR ARl

Question ID : 65497818311
Chosen Option : --

Q.21 1862 ®, I <ATITAY B TITYAT UgA Hgl 1 TS A2
Ans X 1. facelt

X 2. g

o 3. 959

X 4. @R

Question ID : 65497818315
Chosen Option : 3
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Q.22 aﬁﬁﬁgﬂﬂﬁﬁ%ﬁqmﬁaﬁmwﬁ@mh(mﬁ)mﬁﬁm
9O 82
Ans X 1. THIT 3R UA
o 2. T 3R =3
X 3. R 3R Uo=
X 4. T 3R A

Question ID : 65497818319
Chosen Option : 2

Q.23 wgTeT MiEh AP UTHIOr AR TRET ifefas, 2005 o1 Igza urHior &= # srefifae
TR AT A F R R R *Y & &1 AR We= FE1 81
Ans X 1.250
& 2.100
X 3.45
X 4.365

Question ID : 65497816292
Chosen Option : --

Q.24 fmfafeaa & @ feae! Fufo tigwe Foft $ga I8 §RT HIAT T UT?
Ans X' 1. gdlq axdrel

o 2. IR TR

X 3. ST ARG

X 4.7 TEe

Question ID : 65497818306
Chosen Option : --

Q.25 ofim gtans (BHIM UPI) ¥ Wi &, BHIM ® " fh T WIsg &1 s 82
Ans X 1. 3M33fed (Identity)

o 2. 3B (Interface)

X 3. SN (Insurance)

X 4. 3RBIR (Interfere)

Question ID : 65497818414
Chosen Option : 2
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